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F— 1  SFEAROBHEREA O EME L OMHE (cm)
A No FAEME MITE  FEAE  MiTE  FEAE @iTE EAE EE
A .
DBH DBH 4.5m 4.5m 8.5m 8.5m 12m 12m
1 78 75 67.5 69 61 61 54 54
2 65 62 47.5 62 44.5 57 40.5 53
3 47.5 44 40 42 37.5 38 33 35
4 66 59 54 60 47.5 55 44 52
5 63 67 54 66 48.5 61 45.5 56
6 49 56 41.5 55 35 51 32 47
7 39.5 44 36 43 30 40 28 37
8 45 44 36 43 36 39 33 36
9 42 41 34.5 40 31.5 37 26.5 34
10 36 32 32 31 27 28 24 26
11 38 43 34 43 32 40 28 37
12 42 38 39 36 35 32 315 29
80 y =0.9922x + 6.6047
y =1.0053x + 5.9194 R2=0.738
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